
;+s]t g+= zLif{s ;+s]t g+=

s cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{

u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1

1=1=1 dfnkf]t tyf e'lds/ 20,000.00     -              1=1=2

1=1=3 jxfns/ 50,000.00    103,562.00         1=1=3

1=1=5 Jojzfos/ 1,200,000.00   962,645.00         1=1=4

1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00     -              1=2=1

1=1=6=2 k^s] ;jf/Ls/ 5,000.00     -              1=2=3

1=1=7 ;Dklts/ 1,700,000.00   1,704,748.00       1=3

1=1=8 dgf]/Ghgs/ 3,000.00      -              1=4

1=1=9 lj!fkgs/ 5,000.00     -              1=5

1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 50,000.00    198,234.00         1=6

1=2=8 cGo ;]jf z"Ns 5,000.00     -              1=2=9

1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00      -              2=1

1=3=2 gS;fkf; b:t"/ 1,700,000.00   2,420,023.00       2=2

1=3=3 l;kmfl/; b:t"/ 700,000.00    841,343.00        2=3

1=3=4 gftf k|dfl)ft b:t"/ 75,000.00     74,600.00         2=5

1=3=5 cGo b:t"/ 25,000.00     2,065.00          2=6

1=4=3 cGo ljqmL 100,000.00    118,900.00        2=6=3

1=5=1 ;fj{hlgs lghL ;fem]bf/L -         98,036.00         2=8=1

1=5=2 cGo ;|f]t kl/rfng 25,000.00     4,400.00          2=8=2

1=7=1 b)* hl/jfgf 5,000.00     8,600.00          2=8=3

1=7=2 ef*f tyf jxfnjf^ cfo 470,000.00    489,000.00        2=8=4

1=7=3 w/f}̂ L hkm^ 10,000.00     -              2=8=5

1=7=5 k]ZsL lkmtf{ 10,000.00     -              3=4

1=7=6 cGo ljljw cfo 100,000.00    101,455.00         4=3

o; sfofnosf] cf=j=2070.71 sf] aflif{s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M aflif{s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]̂  cg";f/

o; dlxgf ;Ddsf] cfDbfgL ljj/)f



hDdf M 6,249,000.00   7,127,611.00        4=4

v_ jfXo >f]t cfDbfgL 4=5=1

g]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=2

1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 9,604,000.00  9,604,000.00       4=7

1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 18,570,000.00  19,270,000.00      4=8

1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00  700,000.00        4=9

/lhi «̂]zg b:t"/ 4,000,000.00  3,687,508.47       9=1

1=10 cGo cg"bfg 8,800,000.00  9,018,500.00       11=2

cfGtl/s C)f tyf ljljw cfDbfgL vftf 12

1=13=2 nfut ;xeflutf 25,500,000.00  34,871,852.75       

1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,455,000.00   6,979,198.37        u2=2=2 k'+hLut vr{

1=23 gub -         6=1

6=3

hDdf M 69,929,000.00  84,131,059.59       6=5

6=7

9=2

76,178,000.00  91,258,670.59       

s]zaaxfb"/ >]i&

n]vf clws[t

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M



ldltM 2071.4.15

zLif{s

u2=1=2 rfn" vr{

tnj sd{rf/L 6,865,000.00   6,485,921.00     

kbflwsf/L kl/>lds 10,000.00     -            

sd{rf/L sNof)f sf]if 510,000.00    505,370.00       

jLdf lk|ldod vr{ 97,000.00     96,071.90        

sd{rf/L eQf 513,000.00    512,600.00       

j}&s eQf 200,000.00    53,500.00       

;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00     10,140.00       

kf]zfs 250,000.00    232,500.00       

vfBfGg tyf cfxf/ 30,000.00     25,270.00       

cf}iflw pkrf/ 250,000.00    250,000.00      

tfnLd sfo{qmd vr{ -         -            

kfgL tyf ljh"nL dxz'n 120,000.00    118,832.56       

;Grf/ dxz'n 130,000.00    101,612.95       

sfof{no ;Grfng ;DaGwL vr{ 700,000.00    699,863.60       

dd{t ;+Def/ 250,000.00    247,307.00       

O{Gwg 202,000.00    201,799.71       

cGo O{Gwg 8,000.00     3,070.00        

;b:otf z"Ns 50,000.00     15,000.00       

cfly{s ;xfotf 10,000.00     -            

k"/:sf/ 15,000.00     -            

kl/ifb ;Grfng vr{ 100,000.00    38,520.00       

ljljw vr{ 200,000.00    161,530.00       

;fdflhs ;"/Iff cg"bfg 9,320,000.00   9,318,500.00     

k":ts tyf ;fdu|L 10,000.00     4,440.00        

jh]̂  cg";f/ o; dlxgf ;Ddsf] vr{

o; sfofnosf] cf=j=2070.71 sf] aflif{s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M aflif{s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f



sfo{qmd vr{ 1,274,000.00   1,890,000.00     

sfo{qmd e|d)f vr{ kbflwsf/L -         -            

sfo{qmd e|d)f vr{ sd{rf/L 200,000.00    179,270.00       

gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 810,000.00    15,500.54       

bdsn tyf Pda"n]G; ;Grfng vr{ 1,500,000.00   1,212,035.85      

;*saQL ;DaGwL vr{ 100,000.00    24,604.35       

e}k/L cfpg] vr{ 10,000.00     -            

jfXoC)fsf] Jofh e"QmfgL -         -            

lkmtf{ vr{ 10,000.00     -            

hDdf M 23,764,000.00  22,403,259.46     

u2=2=2 k'+hLut vr{

kmlg{r/ 20,000.00     20,000.35       

d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00     -            

                       52,094,000.00  51,015,373.60     

cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00    -            

e}k/L cfpg] vr{ 200,000.00    186,538.00       

hDdf M 52,434,000.00  51,221,911.95     

76,198,000.00  73,625,171.41     

sfo{sf/L clws[t

rfn" / k'+hLut vr{ u/L hDdf M


